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SN DY
ZE: HorK| ML (RYH)(ZELXANL/NSLTAI)
el XIHL IR (=EREE))
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
OAAL QAXeAS 50,000,000& 50,000
HY2IZUI(2LH)(JIEH/IIEH 106,254 105,218 1,036
oz 2gy| 50,418 49,382 1,086
oIz gy 50,418 49,382 1,086
101 Q14| 50,418 49,382 1,036
01 2=+ 50,418 49,382 1,036
(OESINIT=E =) 50,418
obg 9,796& x1H «40A| 2+ 12& 4,703
SLI= 8,312 «4H «40A| 2tx 123 15,960
o732 7,45721%221 x40A| 24+ 128 7,159
=88 6,682« 1H «40Al 2tx 123 3,208
=98 5,993 x5H x40A| 2+ 12 14,384
=J|ls10= 5,422« 1H »40A| 2tx 1228 2,603
o X R 48,017,000 *5% 2,401
Jl2&Hl 55,836 55,836 0
Jl=2& | 55,836 55,836 0
201 LetIH| 12,076 12,076 0
01 AtER22/Hl 8,076 8,076 0
oget=gH| 4,000,000 4,000
CEER 1,700,002 1,700
odxt= 2,376,000& 2,376
02 2223l 4,000 4,000 0
OS2I X AHA 4,000,000 4,000
202 O4Hl 33,600 33,600 0
01 =Wl 33,600 33,600 0
RS F O 200, 0002 * 1424 *122 33,600
203 HRF&H| 10, 160 10, 160 0
01 J|22SEHRF=&HI 6,600 6,600 0
oHzgZ 6,600,000 6,600
02 HANMMHRF=EHI 560 560 0
OXAAIIEZ HH| 40,000 14 560
04 FN2IHRFAHI 3,000 3,000 0
ORNMEE gRFAHI 250,000& «12& 3,000




